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CHAPTER 1 m POLYNOMIALS

Which of the following are not polynomials? See Example 3.

a. 1-4x%

e 2Vx = T7x*+2

a. V3x*—7x +2
2

“ o 6x+5

b.

d.
b.
d.

2
3x2 — dx + =
x

V2x3 + %xz -x
25 + 6x'% — 2

1 2
—x?+3x '+ 4
X X

Simplify each expression by combining like terms. See Example 4.

3x? + 4x* 12. 7x% - 3x° 13.
—5y? — 6y? 15. 8z% — 8z* + 27 16.
3x%y + 4x%y — 2x 18. 6xy? — 4xy® + 3y 19.
e+ Q4 21. (s2—s) — 3s 22.

Simplify each expression. See Examples 5 and 6.

Re*+3t -1 —(@*+ 1

(= 3u—2)— Bu*-2u+1)
2x*=3x + 5 - (3x’ +x = 2)

(4t =3+ 2t - D) - (5P -2 +1+ 1Y

24.
26.
28.
30.

—6y° + 3y°
—62° + 6z% — 2?
3r2 4+ (377 + 47)
(s* + s) = 3¢°

(=4t +1) - 222 - 2)

(Qu* + 4u + 2) —

(u* =~ 4u — 1)

@y* =3y =7)~ (6y* -~y + 2)
(4s° =35+ 22— 1) - Q2s+ s =52 = 1)

Use a vertical format to perform the indicated operations. See Example 7.

42>+ 6a ~ 7) — (@2 + S5a + 2)
7¢* — 10c + 8) — (—6¢2 — 3¢ - 2)

(

(

(4x%y — 3xy + xy?) — (=5x%y + xy — 2xy?) ~ (x*y — 3xvy)
(m*n* — 2mn + 7) — (=2m*n* + mn — 3) - Gm*n? — dmn + 2)

Perform the indicated operations. See Examples S, 6, and 7.

Subtract 4x* — 3x + 2 from the sum of x* — 2x + 3 and x> — 4.
Subtract 2¢? + 3¢t — 1 from the sum of 2¢? — 3¢ + Sand #* + ¢ + 2.
Subtract the sum of 262 — 3b + 2 and b* + b — 5 from 4b* + b — 2.
Subtract the sum of 7¢* + 3¢ — 2 and 3 — ¢ ~ S5c¢? from 2¢* + 3¢ + 1.

Simplify. See Example 8.

y— Ry +{y +1)]

3—-Rx~(+1) + 2]
Bx+2)—[x+@2+x)+1]

[x? — Qx + 3)] - 2x* + (x — 2)]
[2x% = 2x — (x* = 3x + 7)] — [4x? — (x> + 3)]
~(? + 3x) ~ [3x* = (6x — x* + 2)]

3y -@Qx—y) - - 2x = (y - 2x)) + 3y)

40.
42.
44,

3x + [2x = (x + 4)]
S5-By+y-49-1
—x=-3)+2x -3 +x) - 2]
Ry’ =@ -+ -2+



